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1 Define the following types of businesses:

a)  Primary. (1 mark)
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b) Secondary. \e(-bﬁ?ark)
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c) Tertiary. \,\O( Q\) (1 mark)
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2  Explainhow three associated orgé(m tions could affect a business. (6 marks)
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3 Define the following types of changes in global eco systems:
a) Drought. (1 mark)
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b) Famine. %999 (1 mark)
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c) Population shifts. 6\03 (1 mark)
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4 Explainthree reasons for global wildlife population fluctuations. (6 marks)
3 See next page
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a) Describe the relationship between a host and a parasite.

b)  Provide two examples of a parasite and a host associated with each. e

2\
Adogthatisboarding ata kggmgl is vocalising. Describe two types of vocalisation and
provide a reason for th\sge\.‘\
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(2 marks)
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7  Acathasescaped fromits enclosure at a cattery. Explain the procedure that should
be followed to maintain health and safety in the cattery, include a valid reason for

each action.
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8 Identify four physical signs of stress that a dog may display whilst boarding at a kennel.

9  State what the following abbreviations stand for:
a) RTC.

b) NAD.
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(6 marks)

(4 marks)

(1 mark)

(1 mark)

See next page
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10 Describe the symptoms of myxomatosis. (4 marks)
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11 State three responsibilities of a qualified veterinary nurs_e’.\.\e‘\\\ (3 marks)
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12 State the meaning of the following prefix and suffix commonly used in veterinary
terminology:
a)  dys... (1 mark)
b) ...itis (1 mark)
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13 Adomestic dog has escaped from a kennel at a veterinary practice. The dog has an
injury and needs regular medication.

Discuss the welfare and health and safety requirements that need to be considered

when capturing the dog. Discuss relevant legislation that links to the scenario. (12 marks)
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End of examination +





